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> kill (all);

done
Alle Einheiten in SI!
--> tend : 20 ;
20
--> R:10;
10
-> L:0.1;
0.1
-> C:0.1;
0.1

--> ifL#0and C#Othenf O:float (1/(2-%pi)-1/sqrt(L-C));

1.591549430918954

--> omega : float (2 - %pi - f);
6.283185307179586

--> U GS:0;

-> U O0:1.;

--> U:U GS+U 0-sin(omega-t);
sin (6.283185307179586t)

--> if L # 0 then block (
if C # 0 then block (
dgl:L-'diff(Q,t,2)+R-'diff(Q,t)+1/C-Q=U,
loesdgl : ode2 (dgl,Q,t),
Q :rhs (ic2 (loesdgl,t=0,Q=0,"'diff(Q,t)=0)),
display (1)
)

else
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block (

del:L-"diff(Q,t,2)+R-"diff(Q,t)=U,

loesdgl : ode2 (dgl,Q,t),

Q : ths (ic2 (loesdgl,t=0,Q=0,"'diff(Q,t)=0)),

display (2)
)
)

else
block (
if C # 0 then block (
if R # 0 then block (
dgl:R-'diff(Q,t)+1/C-Q=U,
loesdgl : ode2 (dgl,Q,t),
Q :rhs (icl (loesdgl,t=0,Q=0)),
display (3)
)
else
block (
Q:C-U,
display (4)
)
)

else
block (
dgl:R-'diff(Q,t)=U,
loesdgl : ode2 (dgl,Q,t),
Q:rhs (icl (loesdgl,t=0,Q=0)),
display (5)
)
);
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%defaultrat: replaced 6.283185307179586 by 80143857/12755291 = 6.283185307179585

%defaultrat: replaced 10.0 by 10/1 = 10.0

%defaultrat: replaced 0.1 by 1/10 = 0.1

-> wxplot2d (Q,[t,0,tend]) $
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0.025

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

-->
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[:float (diff(Q,t))$
wxplot2d (1,[t,0,tend]) $
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0.05 q

-0.05 -

--> if R # 0 then block (
UR:I'R,
wxplot2d (UR,[t,0,tend ])

)
else UR: 0 ;
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if L # 0 then block (
UL:L-diff(I,t),
wxplot2d (UL, [t,0,tend ])

)
else UL:0;

20
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0.06 -

0.04

0.02 -

-0.02 -

-0.04 -

-0.06 -
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if C # 0 then block (
UC:U GS+1/C -integrate (1,t),
wxplot2d (UC, [t,0,tend ])

)
else UC: 0 ;
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025

015 |-

0.05

-0.05 -

015 -

--> /*if C#0 then U_Kontrolle:U GS+UR+UL+UC
else*/ U Kontrolle : UR + UL + UC $
wxplot2d ([ U, U Kontrolle ],[t,0,tend]) $
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in(6.283185307179586™) ——
1L fun2

05 B

Q5

Created with wxMaxima.
The source of this Maxima session can be downloaded here.

8 von & 02.04.2024, 07:23



